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Q1. T enjoy trying to discover and write MATH 135 proofs.
A) Strongly disagree
B) Disagree

D

)
)
C) Neither agree nor disagree
) Agree

)

E) Strongly agree

Q2.When I have difficulties with MATH 135 proofs, I know I can handle them.
A) Strongly disagree
B) Disagree

D

)
)
C) Neither agree nor disagree
) Agree

)

E) Strongly agree

Q3. Let a,b,z,y € Z.

Which one of the following statements is true?

Ay If az + by = 6, then ged(a, b) = 6.
B) If ged(a, b) = 6, then az + by = 6. x

®) If @ = 120+ 18, then ged(a, b) = 6. Cd ..
@ If az + by = 1, then ged(6a, 6b) = 6. /p ;A [‘2\&. ‘6 B‘ 6

E) If ged(a, b) = 3 and ged(z, y) = 2, then ged(az, by =
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